Mains SeL.




Two metro trains M & N started
moving from New Delhi Railway
Station. Metro ‘M’ moves 12000

meters towards North and then takes
a right turn and moves 6000 meter.
It then takes a right turn and moves
for 12000. It again takes a left turns
and moves for 6000 meters and
reaches Jama Masjid station. Metro
‘N> moves for 6000 meter towards
west and takes a left turn and moves
for 12000 meter; it takes a left turns
a moves 18000 meters and reaches at
Delhi Hatt station. How far and in
which direction is the Jama Masjid
station from Delhi Hatt station?



A ASI 24 M & N 5 feooll Yold v 9
T ¥E 8 | AET ‘M’ 12000 HieX TN
@ AR Fadl & R R TE R Jeht ®
3R 6000 HieX Farcll 3| R I8 T 3R
7ol 8 3R 12000 @& Tt 81 I8 AR
913 3R gedl 8 3R 6000 Hiex T& Faldl
2 R o ARST wyH tEadt 21 AR
‘N’ UfRE PI 3R 6000 HeR Tl 3 3R
Tt 3R Hedl & SR 12000 #HeX T
gl 8; € 9% R JSHY 18000 Hicx
ol 8 IR ficell 8¢ LI W yged
2| el g wew & or RS e
fait g @R fw e # 87

JQ) 12000 meter North
(b) 12000 meter South
(c) 12000 meter East
(d) 12000 meter West



VLTERIOR

FOGVIRLT
€ 1SN 9 |31 o

Ciz230 144y 13362413 GObb

x LOVHS O Dowhte

48 341y

In a certain code language
‘ULTERIOR’ is written as
‘1230144418362418’ and ‘IMPERIAL’
is written as ‘3628224418365230’.
How will ‘CONSTABLE’ be written in
that language?

ts fAfaa @ W1 § ‘ULTERIOR” &I
‘1230144418362418’ 3R ‘IMPERIAL’

P ‘3628224418365230° for@r Sirdr 2|
SS9 HNT H ‘CONSTABLE’ &9 fordl

SITQN?

(a) 482426401452503044
(b) 482426162052503044

~1C) 482426161452503044

(d) 482426162052403044



In a certain code language ‘MOBILE’
is written as WILAME’ and ‘VOLTAS’
is written as ‘MICFYE’. How will
‘REMOTE’ be written in that

language?
7 =g o 9T ¥ ‘MOBILE’ &I
IL

o

AME’ 3R ‘VOLTAS’ &I ‘MICFYE’
forar ST 21 99 99T ¥ ‘REMOTE’ 99

ng&” forddy STt

(a) AEILAG X  (b) LAGEIA
(c) LAGIEA , (4f'LAGAEI

A



Select the option that is related to
the fifth number in the same way as
the second number is related to the

first number and the fourth number
is related to the third number.

99 fawed &1 o9 B} o dradl g 9@
e ¥ et ® iR aelt wer dRe
W& ¥ HaRrd B |
64:20:93:72::88:7?

\__i«0 (b) 63
(c) 36 (d) 75



Pointing towards a lady in the
photograph, the woman said, She is
the sister of my son's father's father's
daughter's mother's only son's wife.
How is the woman related to the

woman in the photograph?

UH TR ¥ U@ dfecr & 3R SIRT Hd
g0 AfeclT 4 $8T G@ W o @ far @
far @1 981 @ A5 F sHAD 9 DI IS
! 989 ¢ |, ARl & TR drelt Afder 9§
71 Rear 87

(a) Mother / Hf
\_AbrSister / T84

(c) Daughter / C[l)

(d) Sister- in - law/ g



Eight friends Apple, Banana, Cherry,
Date, Elderberry, fig, Grape & Hardi
H' K Kiwi are sitting around a round table.
% L Apple is sitting just opposite to
D Cherry. Elderberry is sitting second
left of Dates. Banana is not sitting
A "('with neither Cherry nor Date.
Elderberry is not sitting with neither
Banana nor Grapes. Date is sitting
third left of Hardi Kiwi. Cherry is
sitting third right of Elderberry.
Banana is in b/w Apple & Hard Kiwi.

Which option is not correct?
( EB sivin, oy ok el ¥ v e AW B
EC =i ok B §) Tww, A B S Avda
o7 2| Toswad), WoR @ 90 TR N




UR 93T 8| DT 7 a9 3R T & @R
P Y 99T 2| Yoswad 9 d el 3R
8l 3R & I 99T 8 | WoR, TSl dIdl &
TR ¥ RN RME ) 93 21 A, Toswa
P TR ¥ AR WIF R 83 8| BT, 99
AR B I > I F B

P 9T APy T A8l 87

(a) Fig is in b/w date and Elderberry
3SR , 3¢ 3R Yeevadl @ d9 A B

(b) Hardi kiwi is sitting fifth left of
Date

gl PIAl, WoR & 91V iad ©IF )
dor 8

(c) Grape is sitting opposite to
Elderberry

IR, Yeevad @ faudia do1 ®
WBanana is sitting in b/w Apple &
Grape.

®all, 99 3R FTR & 919 99T B



In the following Venn diagram, the
triangle stands for ‘policemen’, the
circle stands for ‘1.A.S.’, the rectangle
stands for ‘Atheist’, and the square
stands for ‘Under 25 year age’. How
many atheist who are under 25 year
age but not I.A.S.

frfofaa 99 emv@ o Bye &1 el
gferaddl’ 8, g9 P f ‘ST B,
Arad &1 Ief ARd®’ B, R T BT ek
'25 94 | HH AY 7| fHa iRkasw &
25 94 § HH OH B & olfdb INE.T.T.
&l 87




How many Triangles are in the given
figure.

& ¢ amafy 3 R et 87
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In a certain code language
‘COORDINATE’ is written as
‘241712212314138716’ and
‘QUOTATIONS’ is written as
‘10231223262518221330’. How will
‘SIMILARITY’ be written in that
language?

U fAffead @ W1 § ‘COORDINATE’
d  ‘241712212314138716’ IR

‘QUOTATIONS’ G|
10231223262518221330° for@r wrar

2| 99 WIT § ‘SIMILARITY’ &% fored)

SITQ?
(9r8111412156916736 @
(b) 8111412615169736

(c) 8111461512916736
(d) 81114141221169736



In a certain code language
‘GENERALLY’ is written as
‘2720161414910102° and
‘REASONING’ is written as

@ Dea . ¢2120301616189102’. How  will
W‘NEWZELAND’ be written in that
L @ language?
I{i \]'- '1 \qle EA\ &N?i"{““’ vs f¥ad % 91T § ‘GENERALLY’ &)
\ \ ‘2720161414910102’ 3R

<%} .'{b\“u‘ |\1c| I 102_ C@\lowe),)n_ ‘REASONING’ &I

2120301616189102’ for@r SIraT & |

[ ¢ ' DY
Z ‘/\I NN LGQ-DP{ mﬁ NEWZELAND foret

% (a) 28251614141062
g RS (6 l\'\b 6 L (b) 2825161614121262
(c) 2825161014161662
2825161614101062



Select the option that represents the
letters that, when placed from left to
right in the following blanks, will
complete the letter-series.

99 fddcy &7 999 HN O S W@R B
g9 8, fore fAmferRaa R == # qu
¥ M Y@ TR ARG [ & AT |

MNQOS Q’Mﬂ‘is QM NQS5SQM NRS
Q]Mnréiq

(a) ONPSQRQSSS
(b) ONPNSQQRSS

NPNSQRSSS
(d) ONPNSQQSSS




What will come in place of question
mark (?) in the following series

ffoiad @en 4 v o (?) & W
U T A7

(a) 110 lgxngoﬂ‘?

(b) 109

KT 112
(d) 115



What will come in place of question
mark (?) in the following series

ffoiea g@en ¥ 49 o (?) @ W
X T 307

HN"—"\/\/ (a) Y W

(c) A (d) D @



Aqil is 227TH from left. Priya is 135t
from right. If they interchange their
position. Aqil will become 240t from
right. What is now position of Priya
from right?

Ifret 91 | 2279 WM W | 1 g
¥ 135¢ M R 8| T 7 S oA
WM & 95 od & df 3Mfdel &¢ 4
2409 WM TR 3 WY | s | frr &
39 DI AT WF 87

(a) 108 (b) 162

(d) None of the above



115 persons are standing in a queue
at ion examination hall for taking
SSC-CGL Tier-II exam. Rakesh is 43
from the back. Arif is exactly in the
middle of Rakesh and Kajal. Kajal
and Arif have 26 persons b/w them.

What is the position of Arif from the
front?

SSC-CGL feTR—11 e 39 & fol ion
e g ¥ 115 AR daR ¥ @S g
ey 98 ¥ 437 WM W® §| AR,
USY IR PO & 3P 9F § 8| PO
3R IRE B 9 26 AP B |

HaR ¥ 3T ¥ RSB Fr 87
S

(c) 47 (d) 50



What will come in place of question
mark (?) in the following series

frforied sj@em # w1 foeg (?) @ WIH
T T 37

[23 , (737 12 1625 103
17 ? 625

8961 30

21 0
%\a’_) 1) ) 4300 (b) 4284 X @U"’Y?

(c) 4388 4288

¥ — 6354 _ /@ 903



If 2 days before, 2 days before, 1 day
after yesterday is Thursday, then

what will be on 4 days after
tomorrow?

It 97 g WA ¥ 2 R w2
TEd ¥ 1 7 9% THaIR &, @ 3 aTol
o ¥ 4 &7 918 9 - 7 faq g

(a) Friday (b) Saturday

(c) Tuesday l,(d')fSﬁnday




A paper is folded and cut as shown

below. How will

unfold?

Udh BT DI A @MY, FFaR AT AR
HICT ST 8 | BRI I Wiem IR Ig§ DEl
fearg <m?

%

> <>

AN VA

<1< B

> A

AN AV
<> <D

it appear when

mRE

> A

AN AN

e <> D>




A paper is folded and cut as shown

below. How will it appear when
unfold?

T AT Bl -l @MY, FFER AT 3R
PIST AT 8 | BRI DI Gl IR I8 Hdl
fearg <m?




Select the option that is related to
the fifth number in the same way as
the second number is related to the

first number and the fourth number
is related to the third number.

99 APy &1 799 &N O urEdl 9T 9
SN TPR W B ol gEY HE&T Ugall
T 9 geafg g sk ARl S da
H&T ¥ Haftd 2|
15:150:25:500::6:7

\_~14) 6 (b) O

(c) 234 (d) 198



Select the option that is related to
the fifth number in the same way as
the second number is related to the
first number and the fourth number
is related to the third number.

99 fades &1 999 HX o urgdl G °
T | Heeg 8 ok drft wwer dw
e ¥ 9 g
9:36::6:9::?7:64

a) 10 11

(c) 8 @ (d) 15



One evening Rakesh was standing
facing the Burz Khalfa. At that time
the shadow of the Burz Khalifa fell
exactly to his left, then in which
direction, the back of Rakesh?

@ UM B T Gl @ AR e
P G O] 6 T To GAw A
BT d% 9 T AR 0, A T A
G fr e ¥ Y2

mh (b) West

(c) East (d) South



Which two numbers and signs should
be interchanged for solving given

question?

feT MY 999 B & B B fow fq @
el 3R foEl @Y age Afee?

46 +10 - 210x\/274 4 +25 =281

‘“"U"W)”’Wlo&zs & X ML
(b) 210 & 10, + & +
() 210 & 46, + & -

Rston P



Direction: Some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

fAder B $UF AR 9Tb 91 §B ey
A T §| T B T T gL, HA
q M dR W A a8 9 = wda g
g, fvfg of f5 @ w1 frsed qosTa w9
H T BT SFERYT HaT 2 |

Statements:

Some phones are bike.

All bikes are flower.

No flower is leaf.

Conclusion:



X I. No phones is leaf.

/II. No leaf is flower.

/ III. Some flower is phone.
IV. Some leaf is bike.

HY:
X e HO BIF 5P o |
4 9159 G B

BIS Bl Ui TE R,

forsp:
(C) I. BIS BIF T=i 8 2

(a) Only I & IV follow II. HIg T el el ®.

(b) Only II & I follow  III. B B B B.
) Only II & III follow

(d) Only II follow IV. B Uil 98P B.



A N B means ¢ A is the wife of B’.
A $ B means ¢ A is the father of B’.
A % B means ¢ A is the husband of B’.
A Q B means ¢ A is the mother of B’.
A © B means ¢ A is the brother of B’.
A + B means ‘ A is the sister of B’.

A x B means ¢ A is the daughter of B’.
IfM%QxI® M+ZxRAGS$SIAN,
then how M is related to N?

@ MBETN%'A,BH%WF%%’I
A$SBHTIA T A B P fUar &

AEIM%QxIDOM+ZxRAGSIA
||

(c) Sister (d) Daughter-in-law

A%B®HIIFE A B UAE |
AQB®HTINE A B D AT |
A®BHTINT A B DA 2|

alL M, N9 59 yor, dafa 87
(a) Father ;m%u\\w“wﬂa‘ﬁ%lmaﬁm%l

AxBHTIA S A B B 9T &



Select the set of classes the
relationship among which is best
illustrated by the following Venn-
diagram.

TN B S g P 999 X o &9

&1 Wey fAmforied 99—amE gRT |akH
®Y | T T B

Mens, income Tax inspector,
Wi dower

7oy, IIax fAE®, faweier




Six friends P,Q,R,S,T & U play
different games/sports. Each one
plays different game/sport out of
Cricket, Basketball, Ludo,
Videogame, Hockey and Javelin
throw (Not necessarily in the same
order). Each of them plays only one
day from Sunday to Friday (Not
necessarily in the same order). P
plays on Friday. R plays neither
basketball nor Hockey, but he plays
on Wednesday. Tuesday is reserved
for Ludo played by Q. U plays
Videogame a day before T. Hockey is

U-3V§played a day before Javelin throw.

Which one is incorrect?



©

(a) T plays basketball on Monday
T WHAR Pl TROCard Wardl 8
(b) Hockey is played by S
BIP S §RT Wl Silel 8

v @3 P,Q,R,S,T 3R U I3
Td Wad ©l YA dRe e,
TP ¥ A JATINAT T Wordl & (T
& f& st w9 H B) ST 9 T
AR A FHAR 0P Ddad (P e Garar
g (Gl <781 f& 34 %9 4 8) | P YhaR
P Wordl 81 R 9 o IR®desrd 3R 7 &
3P WaAdl 8, oifbd 98 AR DI Wordl
2| HTAOR Q ERT Wl WM dTel ol &
forr ke 81 U, T ¥ T fo9 uga
I Qerar 2| 9T B A TD &
U8l B! Well Sdl & | dIF 9T Tdd 87

Cricket is played in b/w Ludo &
Basketball

frde el ok arRdedrd B G da

ST B
(d) R plays before S and after Q

R, S ¥ Ugd 3R Q & 915 WoAaT 2



One morning Anjali started her

(40 journey at 6:30 am. After walking 80
e, kms northwards then she turns to
w l‘D hlt:rt rifhtt and tm;vesittlﬁ kn;s after
— that she turns to herr and moves
$Q go ‘}y 80 kms. Now she finaglly turns her
20 right and moves 20 kms and she
H P reaches the red fort.
e During her total distance, her speed
(1) At what time she reached the Red was 22 kmbh.
e Uh Ygag oifel 7 6:30 §O (U AT
fre wa 98 arefdon ggd ? TS | 80 fhaiier SR @ 3R T
(a) 4:00 pm  (b) 5:30 pm % 91 98 IO T% AR S & 3R 40
{9 4:30pm  (d) 5:00 pm freiiier wordh & Sw a1 a8 o T
(2) How much distance her house 3R ﬁgﬂ’i g 3k 80 fFaey o £
f’°mﬁth°§;§}°$aﬂ§amg? 9 98 ofda: T A 2 ek 20
(a) 20 km south et m%mq@mglm
(b) 20 km east .
(c) 20 km north SHD! A P B SRE SHD! A 22

o T R et RrcirreR Rt wrer ot



Find odd out.

(a) 23 : 667 (b) 31: 1147
(c) 53 : 3127 (d) 17 : 306

K18
L3%1 ook
3\ x3t )



